Solving Equations with Brackets

Solve these equations.
(@) 3(x+1) =18
(b) 3(x—1)=18
(c) 4(x—3)=8

(d 10=2(x+7)
(e) 5(x—2)=8

(f) 25 =4(x+4)

Solve these equations.
(@ 3(x+1)=2x

(b) 4x = 6(x —3)

(c) 4(x+5)=x+2
(d) 4(x—1)=2x+5
(e) 2(x+5)=x-3
() 3x =1=23x+4)

Solve these equations.

(@ 3(x+1)=2(x+4)
(b) 3(x-1) =2(x+4)
(c) 4(x—-1)=2(x+4)
(d) 4(x—=3)=2(x—-1)
(e) 5(x+1)=2(2x+5)
M 2x—1)=7(x+4)
(9) 3(x—1) =4(x+2)
(h) 3(2x—-1) =8(x+2)

Solve these equations.

(@ 3x+1D+2(x+4) =1
(b) 3(x—1)+2x=12

(c) 5x +2(x+3) =41

(d) 4(x+2)-2(x+1)=2
(e) 5(x+3)-3(x—-1)=30
fH3=7(x-3)—-2(x—-1)

CYES
(b) =1
) = D
(d) x=-2
() oc=36
(F) oc= 2:25

(@) oc=-3
(b) =9
() =6
(d) =45
(e) oc=—13
(€) x=-3

(a) x=5

(b) oc=11

() oc=0b

(d) oc=5
(e)oc=5

(F) x=-6
(9) oc=-11
(h) o= -9-5

(a) x=-2
()2t~
) =5
(a) X=-2
(&) =0
(F) =44




